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1 Bt HBR g™ 39 34 73
2 i IBA ishil 38 36 74
3 fikE IEBA BEEHH 39 36 75
41k —1& kg™ 37 38 75
5% BF ™ 37 38 75
6 AL 1HB8 AR 38 38 76

7857 FiA RKZEH 37 39 76
8 #ILU & INTFHRT™H 35 41 76

9 A %A FNdam™ 40 37 77
10 [ FEH % i 40 37 77
1Mt &= mEH 40 37 77
12 58k fH— MR 38 39 77
13 % #th mR™ 38 39 77
14 85K IE—BER [EEH 35 42 77
15 2@ 5AF FEM 42 36 78
16 EE#E HBE FEM 40 38 78
17 R —#& == 17 40 38 78

18 K B ES 2 o] 38 40 78
19 2% FHih INFRTH 38 40 78
20 KAR % KEBAEH 38 40 78

21 Bt —=% MR 42 37 79
22 ¥fH EE ARm 41 38 79
23 g IE= ARm 41 38 79
24 =55 & AR 41 38 79
25 JIlE &5 47 o] 40 39 79
26 Rk FHt FEER 40 39 79
27 ¥@ 1% FNdam™ 38 41 79
28 &8 & Ea™ 41 39 80
29 NIl B INFHKTH 42 39 81
30 KR {&3hA ntam™ 40 41 81
31 R #H&E =Nl 39 42 81
32 8% & FEM 39 42 81
33 BK RE Il 44 38 82
34 BE &2 NN ] 43 39 82

35 {Rik A HBFH 41 4 82
36 #5RE HA BEHT 40 42 82

37 =k E# et 44 39 83
38 HH Ak ka™ 43 40 83
39 AE #E= I\ 43 40 83
40 BEH JRE NN ] 42 4 83
41 FH E M 40 43 83
42 tiFE E—BF FEWH 44 40 84
43 He B35k I\ 44 40 84
44 EER EFN BiZmh 44 40 84
45 1N F& MR 42 42 84
46 [EIA —%X NN ] 42 42 84
47 SR f8— R&m 40 44 84
B8R B FEM 45 40 85
49 kB BE— INTFRH 44 41 85
50 %k E— ietii] 43 42 85
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51 FfEH —3h INFHH 42 43 85

52 &g ILH fasE™ 42 43 85
53 ik 1EfE =517l 42 43 85
54 Het #th B HET 42 43 85
55 ki Bk WEH 40 45 85
56 Z5 Hll5A FEH 46 40 86
57 @ HA WEM 45 41 86
58 HFA IEE eti] 45 41 86
59 MNEE ET WEM 44 42 86
60 KEH B A 42 44 86
61 ILK #Fth Y-l 45 42 87
62 [EE L= FEM 45 43 88
63 JEBR TR =Nl 44 44 88
64 FIL M FEH 44 44 88
65 IUA IF mR™ 47 42 89
66 HH {EX eti] 43 46 89
67 KFIMA BEE E4£E 50 41 91
68 i #i= izl 50 41 91
69 & FE FNdam™ 51 41 92
70 /B B FEM 51 41 92
71 ALl & =kl 48 44 92
725K R infE™ 46 46 92
73 EH BE mET 47 46 93
74 {REE tHh— mRE™ 53 41 94
75 AR X#k FEH 45 49 94
76 F2A E Elfa™ 50 45 95
77 TH E FEM 51 48 99
ZEIE MK KX R 0 O 0
ZiE AR #£— R E 0 0 0
EEFI 1B FEM 0 o0 0

RIE flL &2 FEH
RE Tk 8X  FTEM
RENE BE R ETH
RE =1 X  BEHH
RiEBER BH tnAE
R B X—  HERM
RE &N KB  BEHH

REBR B i)l
RE AR E=  HBFmW
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